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Maximum Permissible Density= 2100 pph
As example:-
Say maximum permisable density as per tender is 525 PPH

Maximum FAR 175
Density Achieved after purchasable FAR -1050PPH

5% of Density 1050 pph = 1050*5/ 100 = 52 pph, 1% of Current Land

Allotment Price = (
Therefore to reach upto 2100 PPH total amount of density increase-

2100-1050 x100 = 20% Current Land Allotment Price
52

mwmmﬁwmﬁfﬁa%mwmmmaﬁ
mmgﬁﬁaﬁﬁlmmmwﬁmﬁﬁl

p. (arer =T Fard])
R q FHEUED HAER

yfaferd:—
froht e, T S e & wererd |
ﬁﬁﬁw%ﬁ,mgwmmm(ﬁ/sﬁ)aﬁmt
e fawmTTeE( ) B g |
Y HETEEE(FI0) B arurerrel g |
AR weEEE0) /aRe erfues (o) B Rl ERC I CAREY
Frfarel g9 |
6. TS HIgd | Le
Y [ P AP

3 gelewn  bopd- (fan utio&,.j ow wokdik)

oy B o o=



	Page 1

